Name: Primary 5-a-day Bronze

5th February

20x3 =15+ 297 + 6

is 22 more than

77 > 55

is 22 more than

> 39

Mo has 91 strawberries
He eats 43 of them

How many strawberries does he have left?

Here are some signs. Write the correct sign in the box

=) ) (<] 16+2( ) 16 -2
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Look, Say, Cover, Write and Check!

Tick the columns as you follow the instructions from left to right. Make sure you spell the
words in the ‘write’ column. If you spell the word incorrectly, write it again in the correction
column.

look |say |cover | write check | correction

submerge

subheading

submarine

subordinate

subway

superman

supervise

supersede

superpower

superhuman
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Look, Say, Cover, Write and Check!

Tick the columns as you follow the instructions from left to right. Make sure you spell the
words in the ‘write’ column. If you spell the word incorrectly, write it again in the correction

column.

look |say |cover | write check | correction

coach

goes

mouth

brown

snow

true

threw

cried

thief

before
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